
SAP ABAP table PDCIFT {Interface Table for PDC Time Tickets}

PDCIFT

VGE01 [UNIT (3)]

SOE01 [UNIT (3)]

RUE01 [UNIT (3)]

VGE02 [UNIT (3)]

SOE02 [UNIT (3)]

RUE02 [UNIT (3)]

VGE03 [UNIT (3)]

SOE03 [UNIT (3)]

RUE03 [UNIT (3)]

VGE04 [UNIT (3)]

SOE04 [UNIT (3)]

RUE04 [UNIT (3)]

VGE05 [UNIT (3)]

SOE05 [UNIT (3)]

RUE05 [UNIT (3)]

VGE06 [UNIT (3)]

SOE06 [UNIT (3)]

RUE06 [UNIT (3)]

MEINH [UNIT (3)]

LSTYP [CHAR (2)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

AUFNR [CHAR (12)]

KSTRG [CHAR (12)]

NPLNR [CHAR (12)]

KDAUF [CHAR (10)]

DART [CHAR (2)]

UDART [CHAR (2)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 PDCIFT-AUFNR = AUFK-AUFNR 

0..N

0..N

 PDCIFT-NPLNR = AUFK-AUFNR 0..N

0..N

CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]

 PDCIFT-KSTRG = CKPH-KSTRG 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 PDCIFT-BUKRS = T001-BUKRS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PDCIFT-MEINH = T006-MSEHI 

0..N

0..N

 PDCIFT-RUE01 = T006-MSEHI 

0..N

0..N  PDCIFT-RUE02 = T006-MSEHI 

0..N

0..N  PDCIFT-RUE03 = T006-MSEHI 

0..N

0..N  PDCIFT-RUE04 = T006-MSEHI 

0..N

0..N
 PDCIFT-RUE05 = T006-MSEHI 

0..N

0..N  PDCIFT-RUE06 = T006-MSEHI 

0..N

0..N  PDCIFT-SOE01 = T006-MSEHI 

0..N0..N
 PDCIFT-SOE02 = T006-MSEHI 

0..N0..N  PDCIFT-SOE03 = T006-MSEHI 
0..N

0..N  PDCIFT-SOE04 = T006-MSEHI 0..N
0..N

 PDCIFT-SOE05 = T006-MSEHI 
0..N

0..N

 PDCIFT-SOE06 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE01 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE02 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE03 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE04 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE05 = T006-MSEHI 

0..N

0..N

 PDCIFT-VGE06 = T006-MSEHI 

0..N

0..N

T5D7C

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

ENDDA [DATS (8)]

 PDCIFT-DART = T5D7C-DART 

0..N

0..N

T5D7E

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

UDART [CHAR (2)]

ENDDA [DATS (8)]

 PDCIFT-UDART = T5D7E-UDART 

0..N

0..N

T703L

MANDT [CLNT (3)]

LSTYP [CHAR (2)]

 PDCIFT-LSTYP = T703L-LSTYP 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 PDCIFT-GSBER = TGSB-GSBER 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 PDCIFT-KDAUF = VBUK-VBELN 

0..N

0..N


